(__432FK4320 )

MONORACK SPECIFICO - SPECIFIC MONORACK ) f
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO '

KAWASAKI ER500 '98/'00

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
\ INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE )

r@wr@wr®wr©

FASCETTA @ 16
CLAMP & 16

\_ga" l‘l.2:c>1:|:|i1J

S r . i uame
ar D) @ (© COTE GAUCHE
218x15 VITE TCEI M8 X 45 .

x 15,5 VITETE M 8 X 40 RONDELLA@ 8 || pADO M 8 VITE ORIGINALE
COLLAR DISTANCE SCREW M B X 40 SCREW M 8 X 45 WASHER @ 8 NUT M 8 ORIGINAL SCREW
ENTRETOISE VISMB X 45 ROMDELLE & 8 ECROU M 8

LQGTY n.2 J A\ Q'TY n02 J L Q'TY '102 J \_ Q'TY n-6 Q.TY I'I.4 J \_ QGTY N.- J

© Copyright 23092003-Rev02, 1/1 /




